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All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Questions No. 1 -3 and 15 - 19 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Questions No. 4 -8 and 20 - 22 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Questions No. 9 — 10 and 23 - 25 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 11 - 14 and 26 - 29 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.



wus A
SECTION A

1. 3¢ a%g Y $ma ¥ gig § a&g X hl A gt g, al gHi awgail & g I8
ey g : (T8 fashew giw) 1
(31)  wfaeerdt

(@) T
(@) wwafaa T8l
() U @1y gim <t S areft

If with the rise in price of good Y, demand for good X rises, the two goods
are : (Choose the correct alternative)

(a)  Substitutes

(b)  Complements

(c) Not related

(d)  Jointly demanded

2. U IUMIHI had g I H1 IUANT KA1 7 | ARG gHT | Ueh g ! higa
it 8, a1 rafem as6 : (TE fashew ghw) 1

() FIWH AR Rggerar 2

(&) <t I fggera B

(@) SN AR F=2 A AR e ghar 3
(3) & fawhat &

A consumer consumes only two goods. If price of one of the goods falls,
the indifference curve : (Choose the correct alternative)

(a)  Shifts upwards

(b)  Shifts downwards

(c) Can shift both upwards or downwards
(d)  Does not shift

3.  ‘hHETh ITAINGT ¥ FAT I 7 ? 1
What is ‘ordinal’ utility ?
58/2/3 3 P.T.O.



Note :

58/2/3

‘gd forenm AR o1 IRARE TTHTEAT ok IHTET GHITAT dsh TR IHT
T 3 Rl 2

YT

IRA | §¢ ¥ T Tocefl ISf o T & IcuTe AT d5h T 1 THE 98 hi
UTEAT @ 3R A ?

What will be the impact of “Education for All campaign” (Sarv Shiksha
Abhiyan) on the Production Possibilities Curve of the Indian economy

and why ?

OR

What will likely be the impact of large scale inflow of foreign capital in
India on Production Possibilities Curve and why ?

Teh ITUTIYRR TR | BT bl &1 HfHd B T R0 THATEY |

Explain the cause of limited number of firms in an oligopoly market.

Jfyehaw hmd FHaRor § =1 IR g 2 9 36 fohd TR 1 aEgsli W
AT STl @ 2 {1 39 hifu |

What is maximum price ceiling ? On what type of goods is it normally
imposed ? Use diagram.

HEITRIT 5797 acT GIBFIT Taerieral & Io7e 97 §&I1 6 & € W & |/

The following question is for the Blind Candidates only in lieu of
Q. No. 6.

rfireRan hmd fgio it =Ean hma faiw & = @ awsmsy |

Explain the difference between maximum price ceiling and minimum
price ceiling.

qfd hl AT A= % AT o A1 Jg 99-F% (plus sign) T a1 | AT H
d = & "9 % 919 9% (minus sign) & ST BT @ ? HHEATST |
Why is minus sign attached to the measure of price elasticity of demand

of a normal good in comparison to the plus sign attached to the measure
of price elasticity of supply ? Explain.

4



o (el aN o

8. ch LY ddld §Q, AEToTRaa dTietenl 9T SATETHA ScqlgH T dsh + HTh [T T

WW: 3
T X (3519 TG Y (3HE)
0 10
1 9
2 7
3 4
4 0

Giving reason, comment on the shape of Production Possibilities Curve
based on the following table :

Good X (units) Good Y (units)
0 10
1 9
2 7
3 4
4 0

9. U IUYRAI T a&q W, fgehl hmd T 1 9fd 518 8, T 60 T Ll @ | 99
SHd 100 Ifwd 5ig St 8, 98 99 ot T 60 & =5 AT & | gfava fafer grn
HIT bl ShHd AT Bl Uiehedd <hIfTT | 4

A consumer spends ¥ 60 on a good priced at ¥ 1 per unit. When the price
rises by 100 percent, he continues to spend ¥ 60 on the good. Calculate
the price elasticity of demand by percentage method.

10. YA & 1 ARIR g ? Tehrilehl WA T Teh a&g ! YA T T aTell

JHTT "HEATRU |

AT
qfd o gfEds @ F1 SR 8 ? T akg T R AT HT IHeh! Id W TS
ATAT JHTd FHEATRY | 4
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11.

Note :

12.

13.

58/2/3

What is supply ? Explain the effect of technological progress on supply of

a good.
OR

What is ‘change in supply’ ? Explain the effect of tax imposed on a good
on the supply of the good.

uftadt uTal & M % $a 3cared & dey # fafi =wor sy | yw =

& 1® SR ot e | W@ w1 = Fifv |

What are the different phases in the Law of Variable Proportions in
terms of Total Product ? Give reasons behind each phase. Use diagram.

HETCTRGT 3797 FaeT gIBgIT aeiermferan & 1o7q o7 a&ar 11 & T W& |
The following question is for the Blind Candidates only in lieu of
Q. No. 11.
Teh HEATHS 3GTEL hl TERIAT | qiadi 3TdTdl o 90 &% $a IcueT &
e # Tt =wor 9qmst | yes =wer & i o o @ |

State, on the basis of numerical example, the different phases in the
Law of Variable Proportions in terms of Total Product. Give reasons
behind each phase.

TS &G HT SR HqeH | g | 9%g H 7T H GG & A B | 39 9iEad
W FH AT THTE] T @ FHST |

Market for a good is in equilibrium. There is ‘increase’ in demand for the
good. Explain the chain of effects of this change.

Teh SUNIRAT hadl Gl g3l ol IUUNT Hdl §, Tdeh ohl hiFd Teh 9T Ufd
T B | TS IUNIHT ST Seqal b1 UHT HANT HaT & rEeht dimia gfceemd
T 27, A FA1 ITHIH e H B 2 A0 AT | wwesy UE feufa § uw

fararshl IUNIRT R=—IT ShUTT |

HAAAT

T IUNIRAI had af aegall X 3R Y 1 99 Ll 7, KR! 6Hmd A
T 2 3R T 19 SIS & | IS IUNIRKT GHT g3l 1 UHT AW a1 & Toaw
X 61 €t ITNfrar 4 3R Y 1 off 4 8, A1 I IUNRA Sgad | ® 2 RO
AT | gwemse U feufa # w9t suvR s s | i e
fereeror 61 3w IR |




14.

15.

58/2/3

A consumer consumes only two goods, each priced at Rupee one per unit.
If the consumer chooses a combination of the two goods with Marginal
Rate of Substitution equal to 2, is the consumer in equilibrium ? Give
reasons. Explain what will a rational consumer do in this situation.

OR
A consumer consumes only two goods X and Y whose prices are ¥ 2 and
T 1 per unit respectively. If the consumer chooses a combination of the
two goods with marginal utility of X being 4 and that of Y also being 4, is
the consumer in equilibrium ? Give reasons. Explain what will a rational
consumer do in this situation. Use Marginal Utility Analysis.

T ICUTCH hl HGTH hi Il b F® TehigR THIST | 6

Explain the rationale behind the conditions of equilibrium of a producer.

Qus d
SECTION B

I I qoad B W a9 focEl ggr ot gt 7, 9 TP 3T W Ig U9E
U+ i UTEAT B : (Fd fashew i) 1

() HhRIcHS

(¥) TehRIcHS
(d) EhRIcHS 9 FHRICHS GHI
(3)  rE wvma T

Other things remaining the same, when foreign currency becomes
cheaper, the effect on national income is likely to be : (Choose the correct

alternative)

(a)  Positive

(b)  Negative

(c) Positive and negative both

(d) No effect
7 P.T.O.



16.

17.

18.
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ThHR] S § TTATHeh el $8h sk g : (T@ fasheyd gin)
(31) IS YA

() =9 YA — 391
(F) 3UR - YaH
(@) g § ¥ HE A&

Primary deficit in a government budget equals : (Choose the correct
alternative)

(a) Interest payments
(b)  Interest payments less borrowings
(c) Borrowings less interest payments

(d) None of the above

S0 U 99T (o o3 g ?

(31) W @leT

(§) SER

(&)  smieien wgral

(3)  fwr sfenreer @ =

Which one of these is a revenue expenditure ?
(a)  Purchase of shares

(b)  Loans advanced

(c) Subsidies

(d) Expenditure on acquisition of land

@y |1 % HIS < U<k Jdsy |

Name any two components of ‘aggregate demand’.

8



19.

20.

21.

22,
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Ffe HHTd 399 TG = 0, UTh T Jod I8 B : (FRT foshed gHT)
(31) 0

@) 1
(@) 03N 1% =
(3) o=

If MPC = 0, the value of multiplier is : (Choose the correct alternative)
(a O

(b) 1

(c) Between 0 and 1

(d) Infinity

YTaH Iged o@l § W@RM (Wa) oFed 3R 9uRieH gq oFed % 319

TS |
HAAAT

YA FgeH o@l § SR Fga 3R S @ agaq o o7 Jarsy |

Give the meanings of ‘autonomous’ transactions and ‘accommodating’
transactions in the Balance of Payments Accounts.

OR

Give the meanings of Balance of Trade and Balance on Current Account
of Balance of Payments Accounts.

HRU S gL THSY 5 YTam dqer o@n # faew o fean mn g et o
for ST 2

Giving reasons explain where charity to foreign countries is recorded in
the Balance of Payments Accounts.

Ife ITEdfaes Hohdl ¢RI 3G T 250 B TR HFd FFehis (JMER = 100)
120 &1, qI Hifgeh Tehed <M IcITE ohT Tiehard shifvTT |

If the Real Gross Domestic Product is ¥ 250 and the Price Index
(base = 100) is 120, calculate the Nominal Gross Domestic Product.

9 P.T.O.



23.

24.

25.
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BH UHT 1 had & foh ATV Soh HgT 1 ol Hid @ Saich gH I8 Wt had 3
Top Tt I S T THATT T(URR heelF Soh bl & ? THSATSY | ITUST Sehl
SR HgT G ol TP AT T R YHTE T8 hl GHEAT § 2

Why do we say that commercial banks create money while we also say
that the central bank has the sole right to issue currency ? Explain.
What is the likely impact of money creation by the commercial banks on

national income ?

Teh JIaed ddeH | ¢ | Ffciiea & T STHNT 1 Iieha il
TS 3T = 1,250
i = Y9 = 0-2
femr = = 150

An economy is in equilibrium. Calculate Autonomous Consumption from

the following :
National Income = 1,250
Marginal Propensity to Save = 0-2

Investment Expenditure = 150

Hd 1 Sk 1 TIHT hl Sk hE GHSATST |
AYAT

el Sk R ‘dehl T Sk HTI HEATST |

Explain ‘Government’s Bank’ function of the central bank.
OR

Explain ‘Bankers’ Bank’ function of the central bank.

10



26. ‘THGHR a0 | FAT AT & ? A& Tohal MY TG hl 36 A Hl T

T H qHeRT THHATST |
toran
‘FATE 7T W FA WA B 2 3H IR hl QB H A wreeh rvars
1 Y[k HHSATSY | 6

What is ‘inflationary gap’ ? Explain the role of Cash Reserve Ratio in

removing this gap.
OR

What is ‘deficient demand’ ? Explain the role of ‘Margin Requirements’

in removing this gap.

27. THIGHRT 3R JThIfehi) TGl § T84 § SRRl a9ie hl i auemst | 6

Explain the role of government budget in fighting inflationary and
deflationary tendencies.

28. WU SAId §T FHSATEY foh T T I AW AN T MR o |1

FIT agR femam ST =nfau - 6

(i) T BH gl fm o 1 g
(i) U HREH g &I ITAN o fo7u wef wliean
(iii) Tk faforcaTar grT 4t < T e wlie

Giving reasons explain how should the following be treated in
estimation of national income :

) Payment of corporate tax by a firm
(i)  Purchase of machinery by a factory for own use

(iii) Purchase of uniforms for nurses by a hospital

58/2/3 11 P.T.O.



29. SR SHma W Haa TEE 3c1g’ 3R Tehdl TP TS A URehford hivie . 6

(T #3)
i) foewi =+ fae wrw o= (-) 10
(i) TocEn 1 Faa = g 5
(iii) ~ oT=c Yoft ST ITHM 40
(iv) pu=T o1 qTisifies 700
v) frm 30
(vi) Afqard 10
(vil)) =N 90
(viii) fertram 100
(ix) ST 20
(x) o e 110
(xi) HHGATIAT GRT AT LT ITREH 11

Calculate Net National Product at Market Price and Gross National
Disposable Income :

(¥ crores)
(1) Net factor income to abroad (-) 10
(i1))  Net current transfers to abroad 5
(iii) Consumption of fixed capital 40
(iv) Compensation of employees 700
(v)  Corporate tax 30
(vi)  Undistributed profits 10
(vii) Interest 90
(viii) Rent 100
(ix) Dividends 20
(x)  Net indirect tax 110
(xi)  Social security contributions by employees 11

58/2/3 12



SENIOR SCHOOL CERTIFICATE EXAMINATION

MARCH-2015

MARKING SCHEME — ECONOMICS (FOREIGN)
(SET-1I1)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3. For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4. For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5. Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
c3 Expected Answer / Value Points of Marks
1 | (a) Substitutes 1
2 | (b) Does not shift 1
3 | Ordinal utility is the utility expressed in ranks. 1
4 Education raises efficiency by making a worker a skilled worker. This will increase
production potential shifting the PP curve upwards. (Diagram not required)
OR 3
Inflow of foreign capital into the country means increase in resources. This will
raise production potential of the country leading to upward shift of PP curve.
(Diagram not required) 3

Pg. 1



The main causes for the number of firms being small in a oligopoly market is that
there are barriers which prevent entry of new firms into industry. Patents, large

3
capital requirement, control over the crucial raw material etc, prevent new firms
from entering into industry. Only those who are able to cross these barriers can
enter.
b
(o) ey 1
Maximum price ceiling refers to imposition of upper limit on the price of a good by
the government. For example OP is price ceiling while OP; is equilibrium price. 2
Producers are not allowed to sell good at a price greater than OP. The ceiling is
normally imposed on goods needed by masses, like wheat, rice, sugar etc.
For blind Candidates Only :
Maximum price ceiling refers to imposition of upper limit on the price of a good by
the government while minimum price ceiling refers to imposition of a lower limit 3
on the price of a good by government.
The measure of price elasticity of demand has a minus sign because there is
inverse relation between price and demand, while the measure of price elasticity 3
of supply has plus sign because there is direct relation between price and supply of
a good.
Good X Good Y
. ] MRT
(Units) (Units)
0 10 -
1 9 1Y:1X
2 7 2Y:1X
3 4 3Y:1X
4 0 4Y:1X 1%
Since MRT is increasing, the PP curve is downward sloping and concave to the 1%
origin. (Diagram not required)
Price Exp. Demand
1 60 60 1%
2 60 30
L
Ep Q0 AP 1
1, =3
607 1 1
= —0.5 I

(No marks if only the final answer is given)

Pg. 2



10 | Supply refers to the quantity of a good the producers are willing to produce at a 1
price during a period of time. 3
Technological progress, by raising productivity, brings down per unit cost. Price
remaining unchanged, profit increases. This induces producers to supply more.

OR
1
“Change in supply” refers to increase / decrease in supply due to a change in any
factor other than the own price of the good. 3
Imposition of tax raises cost. Price remaining unchanged, profit falls. So producers
supply less.
1 The Phases are :
Phase : | TP rises at increasing rate i.e. upto A Y3
X
Phase : Il TP rises at decreasing rate i.e. between A and B. ’
Phase : lll TP falls i.e. after B.
Reasons :
Phase | : Initially variable input is too small as compared to the fixed input, As
production starts there is efficient use of the fixed input leading to rise in
productivity of the variable input on account of division of labour. As a result TP
rises at increasing rate.
Phase Il : After a level of output, pressure on fixed input leads to fall in productivity
of the variable input. As a result TP continues to rise but at a decreasing rate. 13
Phase lll : The amount of variable input becomes too large in comparison to the
fixed input causing decline in TP.
\’
B
[}
|
|
-rp
TP A
1%
PhaseT | Phase L Phaselll <
O \hr\uﬂ)h
Imput
For Blind Candidate Only
Variable input TP MP
(Units) (Unit) (Unit)
1 6 6
2 20 14
3 32 12
4 40 8 1%
5 40
6 37 -3

Pg. 3



Phases :

(1) TP increases at increasing rate upto 2 units.

. . . %x3
(2) TP increases at decreasing rate upto 5 units.
(3) TP falls from 6 unit onwards.
Causes :
3
Same as above
12 | - Given equilibrium, demand increases.
- Price remaining unchanged, excess demand emerges.
- This leads to competition among buyers causing price to rise.
- Rise in price causes fall (contraction) in demand and rise (expansion) in supply.
- The price continues to rise till the market is in equilibrium at a higher price.
(Diagram not required) 6
13 | Let the two goods be X and Y. Given Px =1, Py = 1 and MRS = 2, the consumer is
said to be in equilibrium when
MRS =
Py
Substituting values we find that
2> or MRS > ==
1 Py
MRS > i—x means that consumer is willing to pay more for one more unit of X as
y
compared to what the market demands. 3
- The consumer will buy more and more of X.
- Asaresult MRS will fall due to the Law of Diminishing Marginal Utility.
- This will continue till MRS = IIZ—" and consumer is in equilibrium.
y
3
(Diagram not required)
OR
Given P, =2 ,P, =1and MU,=4 , MU, = 4, the consumer will be in equilibrium
when
MU, MU,
P, P
Substituting values, we find that consumer is not in equilibrium because :
Yo% of MUx MUy
2 1 Py Py 3
Since per rupee MU, is lower as compared to per rupee MU,, , the consumer will
buy less of X and more of Y. As a result MU, will rise and MU,, will fall till
MU
% and P—y are equal again and the consumer is in equilibrium.
x y
3

(Diagram not required)

Pg. 4



14 | The equilibrium conditions are :
i) MC=MRand (ii) MC > MR after equilibrium.
Suppose MC > MR. In this situation it will be profitable for the firm to produce
more or less depending upon relative changes in MC and MR till MC = MR. 3
Suppose MC < MR. It will be profitable for the producer to produce more till MC =
MR.
MC = MR is a necessary condition but not sufficient to ensure equilibrium. If after
MC= MR output, MC<MR if more is produced, it will be profitable for the firm to
produce more. If after MC= MR output MC > MR, it will not be profitable to 3
produce more and the firm will be in equilibrium.
(Diagram not required)
SECTION -B
15 | (b) Negative 1
16 | (c) Borrowings less Interest payment. 1
17 | (c) Subsidies 1
18 | 1. Private final consumption expenditure 3. Government final expenditure ¥ x2
2. Investment Expenditure 4. Net Exports (Any Two)
19 | (b)1 1
20 A BOP transaction independent of the state of BOP, i.e. undertaken on its own, is
autonomous transaction. 1%
A BOP transaction influenced by the state of BOP, i.e. by deficit or surplus is
accommodating transaction. 1%
OR
Balance of trade = Exports of goods less imports of goods. 1%
2
Balance on current account = Receipts of foreign exchange on account of
current transactions - Payment of foreign 1%
exchange on account of current transaction.
21 Charity to foreign countries is recorded in the current account of BOP a/c because
it is a transfer payment. It is recorded on the debit side because it leads to 1% + 1%

outflow of foreign exchange.

(No marks if the reason are not given)

Pg.5



22

Nominal GDP
Real GDP = - X 100
Price Index

Nominal GDP y
120

250 = 100

250 x 120

Nominal GDP =
omina 100

= 300

(No marks if only the final answer is given)

1%

%2

23

Money supply has two components: Currency and demand deposits with
commercial banks. Currency is issued by the central bank while deposits are
created by commercial banks by lending money to the people. In this way
commercial banks also create money.

Commercial banks lend money mainly to investors. The rise in investment in the
economy leads to rise in national income through the multiplier effect.

24

Y=C+MPC(Y)+1
1250 = C + (1 —0.2)1250 + 150

C = 1250 — 1000 — 150

C =100

(No marks if only the final answer is given)

25

The central bank is the sole authority for the issue of currency in the country. It
promotes efficiency in the financial system. Firstly, because it leads to uniformity
in the issue of currency, Secondly, because it gives Central Bank control over
money supply.

OR

As the bankers to banks, the Central Bank holds a part of the cash reserves of
commercial banks from these reserves. It lends to commercial banks when they
are in need of funds. Central bank also provides cheque clearing and remittance
facilities to the commercial banks.

(To be Marked as a whole)

26

The Inflationary Gap is the amount by which aggregated demand exceeds
aggregate supply at the full employment level. It is called inflationary because it
leads to rise in the price level.

Cash Reserve Ratio: is that percentage of bank deposits which are held as reserves
with the central bank. Central Bank has the right to fix CRR. The central bank can
reduce inflationary gap by raising CRR. Raising CRR will reduce lending capacity of
the commercial banks. Less lending will leads to fall in aggregate demand helpful in
reducing inflation.

Pg. 6



OR

Deficient Demand: is the amount by which the aggregated demand falls short of 2
aggregate supply at full employment level. It causes fall in price level.

A Margin Requirements: is the difference between the amount of the loan and

market value of security offered by the borrower against the loan. If the margin

imposed is 40%, then the bank is allowed to give loan only upto 60% of the value of

security. By reducing margin the lending capacity of the banks can be raised. More 4
lending will leads to more aggregate demand, that is helpful in reducing deficient

demand.

27 | Government expenditure and taxes can help in fighting price fluctuations.
Inflationary tendencies emerge due to aggregate demand being higher than
aggregate supply. While reducing its own expenditure government, can bring
down aggregate demand during inflation. During deflation government can
increase its expenditure. To raise aggregate supply, tax concessions and subsidies 6
can also be used.

28 (i) Payment of Corporate Tax is a transfer payment and therefore not 2

included in national income.
(ii) Purchase of machine for own use is investment expenditure by firm and 2
thus included in national income.
(iii) Purchase of uniforms for nurses by a hospital is intermediate cost for the 2
hospital and thus not included in national income
(No marks if the reason is not given)

29 | NNB,, =iv+viitviii+ (w+ix+vi) +x—i 1%
=700+ 90 + 100 + 30 + 20 + 10 + 110 — (—10) 1
= Rs.1070 Crore %

GNDI = NNPBy, + iii — ii 17
=1070+40—-5 1
1%

= Rs.1105 Crore

(No marks if only the final answer is given)

Pg.7
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